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Theories on Acids and Bases

(2) Bronsted-Lowry — more inclusive theory than that of Arrhenius

NaOH(aq, + HCl(aq) - NaCl(aq) + HzO(])
ionic: Na+(,,q) + OH-(aq) + H+(8q) + Cl-(aq) > Na+(aq> + C]‘(aq)+ Hg()(])
netionic. OH-uq + Htuq =2 H2Oq,

eg. b) N}I_z(aq) + HgO(}) > N}’Lrl“(aq) + OH-(aq)
base acid conj. acid  conj. base

C) CH}COOH(aq) + NH3(8q) 9 CH_';COO-(,,q) + NI‘I4+(aq)
acid base conj. base conj. acid

d) NH_q(g) + HC]('g) > NI{QCI(S)
base acid neutralization
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Acid - Base Problems

Solution to Question 1

Titration Curve
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Peoblems Usmq K for Acids and Boses
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